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il THIEEHIIAE 8 TH » RKZBIIFAEH M - FHEEET:4,7,10, ..., 25
"
BlHa=4
KIE 1=25
THEI n=8
B 8 IH A S(8):
(a+l)Xn
2
(4+25)8
T2
=116
1. THEEHFIILE 8 TH » KESESIFTAH A - HA25:6,10, 14, ..., 34
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OIS 758051 45, 37, 29, ..., —43
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ANS: (a) 12, (b) 12
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ANS: 345
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***El}cﬂ ar+tax+...+as=1000 , 5(25)=1000***
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Han B FERINEnIHE Ea=a-Skatat...+an=-2128 K a -
ANS: 11
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WEHZE 0 NFEEd .
T(2) =12
a+(2-1)d =12 T(n)=a+(n-1)d

T(5) = 42
a+(5-1)d =42 T(n)=a+(n-1)d
a+4d =42 .......... (2)
(2)-(1): 3d =30
d=10
fmd=10fCA (1) -
a+10 =12

a=2
. 4
.. S5(4) = 5[2(2) +(4-1)(10)]

=68
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1l TS 2851 16, 18, 20, -+ -
(a) Kez#5IE 10 THZ A -
(b) FERZENE kT AR 184 > K kHY(H -
®
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ANS: 250
b)
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FKIE 1=T(k)
=16+ (k—1)2
TEE n =k
R k TH 2 TR 184 => S(k)=184**
[16 + 16 + (k — 1)2]k (a+1)Xn
s(k) = 5 =184 S(n) = ———
(32 + 2k —2)k = 368
(30 + 2k)k = 368
30k + 2k%? — 368 =0
k?+ 15k —184=0
k =82-23 (#2X)
11. CLHIEE 28051 64, 55, 46, ...
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ANS: (a) 130 , (b) 16
{l E—EEHNE n HZR R n*+ 30 KZEFIRIE 418
SA)=ar+m+as+ay
SB)=ar+tm+a;
S(4) - S(3) = (a1 + a,+ as+ a4) — (a1 +a, +a3)
=a;+a,+asz+az—a;—a,—as
= a,
2 4 TH: S(4) - S(3)
= (42+3x4) — (32-3x3)
=10
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ANS: -8
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NE=8-1=7

S0} = T2+ (10-17] | S(n) = ~[2a+ (0= D]

=325
(b) S(18)=a1+a2+a3+a4+a5+a6+a7+a8+a9+a10+a11+a12+
5(10)=a1-+-a2+a3+a4+a5+a6+a7+a8+ag+a10
*k S(18)—S(10)= a1 ta +a3+a,+a5+a6+aq7 +agg
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Ayt gz + 13 + Q14 + Q15 + Q16 + Q17 + Agg

= S(18) — S(10)

e+ (2573 + a; + aig

ANS: 764
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CHIFEHS -2,6,14, ...
(a) KEZEHIE 5 HZA -
(b) SREZEIEVE 6 TS 10 FHZA -

ANS: (a) 70 , (b) 280
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SHERIFEER n > 3 A(n)=2n+3 & B(n) = 10"*3 o
@ LAnFA()+AQR)+...+AMn) -
(b) 3K log (B(1)B(2)...B(10)) -

®
(a)
HTE A1) =2x143 =5 & n=1
FRIE A(n) = 2n+3
5+2n+3 (a+1D)xn
A(D)+AQR)+...+A(n) =# S(n) = .
_ (@n+8)n
2
_ 2n% +8n
=——
=n?+4n
(b) B(1)B(2)...B(10) = 102143 x 10223 x 1023+3 x ... x 102X10+3
= 102x1+3 +2x2+3 + 2x3+3 + ... + 2x10+3 XM . XN — XM+N

log (B(1)B(2)...B(10)) = log(10%1+3 x 1022+3 x 1023*3 x ... x 10210+3)

—log (102143 + 2243 + 2343 + .+ 2010+3) log 10% = k log 10

= 2x1+3 + 2x2+3 + 2x3+43 + ... +2x10+3 =k **(log10=1)
= A(D) + AQQ)+ ...+ A(10)

=102+4x10

=140
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HERTERE n > 55 A(n)=4n—3 L B(n)=2%"3-
(@) PlnTAD)+AQR)+ ... +A(n) °
(b) 3K logz (B(1)B(2)...B(15)) -
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